

$$(i) \frac{e^x - \sin x - 1}{x^2} = \frac{1}{x^2} \left(\underbrace{1+x+\frac{x^2}{2}+o(x^2)}_{e^x(x)} - \underbrace{(x+o(x^2))}_{\sin x} - 1 \right)$$

$$= \frac{1}{x^2} \left(\frac{1}{2}x^2 + o(x^2) \right) = \frac{1}{2} + o(1) \rightarrow \frac{1}{2}$$

$$(ii) e^y = 1 + y + \frac{1}{2}y^2 + o(y^2)$$

$$e^{-\frac{x^2}{2}} = 1 - \frac{x^2}{2} + \frac{1}{8}x^4 + o(x^4)$$

ansel = $-\frac{1}{12}x^4 + o(x^4)$; limite = $-\frac{1}{12}$

$$(iii) e^{\sin x} = 1 + \left(x - \frac{1}{6}x^3 + o(x^3) \right)$$

$$+ \frac{1}{2} \left(x - \frac{1}{6}x^3 + o(x^3) \right)^2$$

$$+ \frac{1}{6} \left(x - \frac{1}{6}x^3 + o(x^3) \right)^3$$

$$+ o \left(\left(x - \frac{1}{6}x^3 + o(x^3) \right)^3 \right) = 1 + x + \frac{1}{2}x^2 + o(x^3)$$

ansel = $\frac{1}{6}x^3 + o(x^3)$; limite = $\frac{1}{6}$

$$(iv) \cosh(x) = \frac{1}{2}(e^x - e^{-x}) = 1 + \frac{1}{2}x^2 + \frac{1}{24}x^4 + o(x^4)$$

ansel: $-x^2 + o(x^3)$

alhem: $\frac{-x^2 + o(x^3)}{x^3} = -\frac{1}{x} + o(x^3) \rightarrow -\infty, x \rightarrow 0+$

$$(i) \frac{1}{1-y} = 1 + y + y^2 + y^3 + y^4 + o(y^4)$$

$$\begin{aligned} \frac{1}{1-(x-x^2)} &= 1 + (x-x^2) + (x-x^2)^2 + (x-x^2)^3 + (x-x^2)^4 + o((x-x^2)^4) \\ &= 1 + x - x^3 - x^4 + o(x^4) \end{aligned} \quad \left[\begin{array}{l} x^4 + o(x^4) \quad o(x^4) \\ x^3 - 3x^4 + o(x^4) \end{array} \right]$$

celkem: $\underline{1 + 2x + 2x^2 - 2x^4 + o(x^4)}$

$$(ii) f\left(\frac{1}{y}\right) = \frac{1}{y\sqrt{y}} \left(\sqrt{1+\frac{1}{y}} + \sqrt{\frac{1}{y}-1} - 2\sqrt{\frac{1}{y}} \right)$$

$$= \frac{1}{y^2} \left(\sqrt{1+y} + \sqrt{1-y} - 2 \right) \rightarrow \underline{-\frac{1}{4}}$$

neboť u zrcel = $(1+y)^{1/2} + (1-y)^{1/2} - 2 = -\frac{1}{4}y^2 + o(y^2)$

ale rovné $(1+y)^{1/2} = 1 + \frac{1}{2}y - \frac{1}{8}y^2 + o(y^2)$

$$(iii) \cos(4yx) = 1 - \frac{1}{2}x^2 - \frac{7}{24}x^4 + o(x^4)$$

$$n=4, \quad \lim = \frac{1}{24} - \left(-\frac{7}{24}\right) = \underline{\frac{1}{3}}$$

$$(iv) f\left(\frac{1}{y}\right) = \left(\frac{1}{y^3} - \frac{1}{y^2} + \frac{1}{2y}\right) e^y - \sqrt{\frac{1}{y^6} + 1}$$

$$= \frac{1}{y^3} \left[\underbrace{\left(1 - y + \frac{1}{2}y^2\right) e^y}_{1 + \frac{1}{6}y^3 + o(y^3)} - \underbrace{\left(1 + y^6\right)^{1/2}}_{1 + o(y^3)} \right] \rightarrow \underline{\frac{1}{6}}$$

$$1 + o(y^3)$$